Microeconomics 1 — Part A: Individual decision making
Masters M1 IMMAEF & MAEF

TD — Wednesday, September 25, 2024
Consumer Theory
The following exercises should be submitted on Wednesday, September 25. A particular
attention will be given to your presentation.

L = 2 is the number of commodities and Ra_ is the consumption set of the consumer.

Exercise 1 (Lexicographic preferences). For all z = (z1,72) € RY and T = (71,72) € R2,
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x T “ao1>7 " or “o1 =7 and o2 > Ty’
Show that this preference relation is strictly monotone and strictly convex, but not continuous.
Exercise 2 (Linear preferences). For all z = (z1,72) € R% and 7 = (1, T2) € RZ,

x T = azry + bxry > azi + bTo

with @ > 0 and b > 0. Show that this preference relation is continuous, convex, strictly monotone,
but not strictly convex.

Exercise 3 (Leontief preferences). For all z = (z1,22) € R2 and T = (71, 72) € R%,
xr 7 T <= min{xy, 2} > min{z;, T2}

Show that this preference relation is continuous, convex, monotone, but it is not strictly convex and
it is not strictly monotone.



